Name:

September 05, 2020

Sr: 05092020-1651
MATHS WORKSHEET %«'

11-PLUS
SATS {ﬁf)
GCSES \Z

ERATOR

1) Find area of 2) (2x 4% +(5x3Y 3) (-616) + 479
b rectangle having
sidesa=832cm
a andb=334cm
Answer: Answer: Answer:
4) 10/ 5) 27.2x 39 6) 20 x 1000
15
64
Answer: Answer: Answer:
7) 11 1 = 4/13 8) Find the range of the following set of data: 9)
0.2,10 25 Find Volume of
Cylinder
Answer: Answer: Answer:
10) Find area of 11) (1x18)/(3x97Y 12) Solve by factorising
b rectangle having s2-9s5-10=0
sidesa=704in
a andb=547in
Answer: Answer: Answer:
13) 06:46 am To 01:04 pm 14) 15)
Find Volume of Find Volume of
Pentagonal Pyramid Pentagonal Pyramid
23 23
Answer: Answer: Answer:
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16) 17) Solve by factorising 18) Solveby factorising
Find Volume of j2-12j+20=0 j2-12)+20=0
Pentagonal Pyramid
23
Answer: Answer: Answer:
19) Find the mean of the following set of data: 20) 4 2/4 -6 2/3 21) (10x 77) x (10 x 16)
05,0,33,03,0
Answer: Answer: Answer:
22)  Findthemean of the following set of data 23) (-222) + 737 24)  Find the percentage change from 2 to
16, 0.9,0.3,0.2 33
Answer: Answer: Answer:
25) Find perimeter of 26) Find perimeter of 27) 370+ 10
triangle b rectangle having
b ¢ a=541m,b=698 sidesa=745m
m, a andb=270m
a c=918m
Answer: Answer: Answer:
28) Find the mean of the following set of data: 29) (-268) - 389 30) Decrease 34 by 4/17
21,30, 37,5
Answer: Answer: Answer:
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31) /

32) /

33) Find the mean of the following set of data:
7,0,9

A B =45 A B =45
Find the Angle at side A. Find the Angle at side A.
Answer: Answer: Answer:

34) 18, -85 35) 90+ 174 36) 'What isthe probability of rolling a
number less than 6.when rolling a
dice

Answer: Answer: Answer:
37) Find perimeter of 38) Convert the following mixed number 39) Find perimeter of
square having each 1018/, < into an improper fraction. b rectangle having
s side (s) equals 155 ft sidesa=999in
a andb=9561in
s
Answer: Answer: Answer:

40) 'What isthe probability of rolling a
even prime number.when rolling a

41) Factorise g2 + 7q + 12

42) Convert the following mixed number
615/, into an improper fraction.

a andb=998in

Answer:

a and b=998in

Answer:

dice
Answer: Answer: Answer:
43) Find perimeter of 44) Find perimeter of 45) 986 + (-726)
b rectangle having b rectangle having
sidesa=999in sidesa=999in

Answer:
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46) 23x 10

Answer:

47)  Increase 90 by ¥/,¢

Answer:

48)
30_4~

” Volume of Cone

29

Answer:

49)  Round 7.4 to the nearest 100

Answer:

50)  Round 7.4 to the nearest 100

Answer:

Total: /50

Copyright 2020 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

September 05, 2020

1) 277888cm 2) 32783
8)9.8 9) 45238.934211693
15) 7584.437874263 16) 7584.437874263
22) 435 23) 515

29) -657 30) 26

36) %/ 37) 620ft

43) 3994in 44) 3994in

50) 7.4
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3)-137
10) 385088in
17)j=100r2
24) 1550%
31) 135

38) 89

45) 260

Answers:

4) 16

1) 3
18)j=100r2
25) 2157m
32) 135

39) 3910in
46) 230

5) 1060.8

12) s=10o0r -1 13) 06 Hours 18 Mins

19) 6.76
26) 2030m
33)5.33

1
40) Y
47) 2

MERATOR

6) 20000

20) 4l

27) 37

34) 18/, 45

41) (@+3)(a+4)
48) 26420.79421669

GCSES

7)3Y,

14) 7584.437874263
21) 82354300

28) 23.25

35) 9975
a1y,

49)7.4
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